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The “Oveanie National Park” of India is
located n

ia) Sunderban
o) Nicobar Islands

(M Chilka Lake
() Kutch

India’s first semi high speed tramm “Vande
Bharat” runs between

(@) Varanast to New Delln
(b} New Delhi to Jammuy

(€) New Delht to Mumba;
(d) New Delhi wo Luck now

In which of the tollowing cities of India. the
first synthetie rithher rhant ofthe country was
set up ”

(a) Pamipat

ih) Sonip:t
() Chandigarh

() Lucknow

Which is the biggest refinery i India ?
{a) Jam Nagar

(hi Paradweep
) Digho

(d7 Tatipnka

Which of the following State has longest const
line of India ?

(a) Andhra Pradesh
(¢) Tamil Nadu

th) Gujarat

idl Kerala

Which of the following svstems of rocks privides
maximum amournt of coal in Inda ”

ta) Dharwad System (b)) Gondwana Svstem

{c) Vindhyan System (d) Tertiary System

With reference to the 118 President s visit
to India in Feb. 2020, which of the f llowing
statements 1s8/are correct
1. U.S. first lady Melania Trump
visited a yoga session and interacted with
students in a Delh Sihool
- The School visted by Melania Trump s
eo-educational senior sedo ndary school in

Mot Bagh. Delh.

Select the correct answer using the codes
given below,

Codes :
() Only 1
(c) Both 1 and 2

]

(b} Only 2
{d) Neither 1 nor 2

[E=
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t{agarrlum Ram Mandir Trust farmed in Feb”
¥ 'J 1 .
...FJI..I"J_ n;ni-.h the List ~ 1 with List — ] and
stler Py % & i

Bl the correct answer from the codes given

below
::;st -1 List - 11
\ Name) _ (Position)
A, ;"uIIHh;mL Nritva 1. Head of the
Gopal Das Temple

Construection

1.1:J:'|:1!'!|I"l_'l."
B Swami Govingd 2 General
Dieve Giri

Secretary of Trust

C. Shri Champat 3. Treasurer of
Hm_ _ the Tru st

D). Shri Nripendra 4. Preaiden: of
Mishra Rar Meandhr Tt

‘odes s
A B D

R | & 1 §

by 4 g 2 ]

() @ 4 i i

idy 3 2 4 |

Which of the following was conforred fOstar
Award 20207 for Best Film ?

(a) Avenger 1 (b) Gully Bow

iy doker

{e) Parasite

Where did the firs; “Khelo India University’
games take place ?
{a) Bhubaneswar
() Pune

(k) New Delh:
iy Molkata

Chiven belaw are two statements one labelled as
Assertion (A) and the ather as Reason (R)
Assertion (A) : President Donald Trump was
agquitted by the Senate in impeachment tral
against him in February 2020

Reason (R) : Demacrats have majority over

Bepublicans in the Senate.

Select Lhe eorrect unswer Trom the codes given

below

Codes :

{a) Both (A and () are true and (R) i= the
correct explanation of (4)

{b) Both {A) and (R} arc true and (R) 1= not
the correct explanation of (A)

(e) {A)i1s true hut (K) iz false

(d) (A)is false but (R) is true

o

B.
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T -1 He - 11
() (73)
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% W7
B, = Mg 39 it 2. 7 ¥ memfas
C. ot = 3. TR % Fems
D. o 3z fir 4, T R g
3eqy
;E:
A B & D
i 2 3 4
A0 3 '2 1
(o] | | 4
idy 5 s 9 1

Fefsifen H 8 foa wetom e & fom s
TERT 2020 wer frn w7 T
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(d) F=ht

(b) 7% feweht
(d) TreFTT
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Hiw many teams partiapated in 10C Women's
T-20 World ( “up that was held durnng
February . March 2020 in Australia ?

la)y s

by 10

{e) 12

(dy 14

International Gandhi Award 2020" for the

efforts against leprocy in the individual
category has been awarded to

() Yoher Sasakawa

by N 3 Dharmashakany
€] Satya Nadella

(d} Damodar Ganesh Bapat

Choose the correct option from the

ollowing -
63 %08
{a) BR by 4%
(c) 86 i) 56
Choose the correct pair in which the words
bear the same relationship to each other as
the words given below pair |
Dinosaur : Dragon : ; ?
(a) Evolution : Revelation
{b) Gorilla : Scldier
ic) Snow : Tee
(d) Ancient : Medieval
Which number will come next in the following
series 7
B. 15, 28, 53, 7
(a) 98 (b} 108
{¢) 100 (d} 102

In the following question, a matrix of certain
character 18 given. These character follow a
certain trend, rowwise or columnwise, Find

out the missing character accordingly.

I8 20 =
5 15 1
22 40 38
9 2 13
(m) 18 ), 12
© 10 (d) 14

12

13,

14,

15,

16,
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wrefean 4 waft-grd 2020 & foa srata _
i . #. ofeen A- 20 fava w9 8 feadt fol 3

w fomm 7
(a) 08 (b) 10
(@ 12 (d) 14

2 T % figens R g vt ¥ =fEeE af 6
‘s T TR 20207 T 9 R

(a) TTEE AGTHE]

(b} T . $TifeTE

(c) HFY q2eA1

(d) EHETEL MU W
hmﬁﬁﬁaﬁﬁﬁﬂﬁﬁmgﬁﬁ:
€3:0::7.04

(&) GR (by 42

() 96 (d) 56

8 7 %1 3 e, R 2 el 3 o zw @
_ngﬂ::?
(a}ﬁl’ﬂﬁ:aﬁﬁm

(b) Tifeen - &

(¢ fm - =

(d) 9= gemmRRg
ﬁq‘ﬁ-ﬁﬁaﬂﬁnﬁﬁﬂq-mmaﬁmﬂ o
8, 15, 28, 53, 7

(a) 98 (b) 106

mmﬁﬁﬁ
AR A R LS e g
9 Hifam | Ll
I8 3 2
- 13, T
22 40 38
: ¢ )
(a) 18
(b) 19
{c) 10
@ 14
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Mokut went 15 km t the Weat from his
then turned |eft 4 nd walked -
( then he turned Fast and walked
45 km and finally turmimg |eft -.‘.TJ‘I.-'I:‘T‘E'I'l-
20 km. How far was he tfrom his .

hos

20 ki

house ¥
{a) 5 km (by 100 km
ich 40 bk {d) B0 lem
lT'\"E'I]I:]'l tme of the following number is. differert
from other three 7
(a) 94 (b} 67
(c] BS (d)y 14

A brotherol B, 'C'is marred to T 17 16 the
nephew of W thenwhat it the rFelationshipof A’
with ‘[1'2

{a) Fatherin law
e Sonon law

(b) Motherin law
(d) Daughter in law

In which year “Kisan Samridhi Aayog” was
established in Uttar Pradesh ?

() 2016 (b} 2017

{c) 2078 (d) 2019

In which of the following distriet literasy rate is
the lowest, 7

ia) Bulandshahr
ic) Kushinagar

(b) Shrawasti
{d) UUnnao

What is the percentage of eanal irrigation of
the total irrigated area in the state of Uttar
Pradesh ?

{a) 30 percent
(ch 28 percent

{b) 29 percent
(d) 27 percent

Match the List — I with List — Il and select the
correct answer [rom the codes given below,

List - I List - 11
A, Brassware 1. Meerut
B. Match Box ii. Saharanpur
C. Sports Goods iii. Mnrgdahud
D. Waood Carving iv. Bareilly
Codes :

A B € D
(a) v iii '
by @i v 1
&) i TR
(dy i i iv iii

2l

19,
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ﬁﬁﬁﬂaﬂﬁmﬁtﬁﬁﬂﬂﬁmﬁiﬂﬁﬂm.ﬁm
a7 e o0 fadt e, fe e A AT T
ﬁﬁfﬁw.ﬁamﬁmﬁggwm%ﬁ?ﬁ{ﬁ
mH  Tmammy e g w7

(a) 5 Ferht (b} 10 TRt

{e) 40 farft (d) &0 T
Frefofas & 8 TRt g s AR A A R 7
(a) o4 (b) 67

{c) HE {d) 13

B v B, e feETE D E e B | A
B el B, @A D E g R 7

a) Al (b) @=

(v) TG (d) 9994

Imﬁﬂﬁ‘ﬁmﬁwﬁ:mﬁmﬁﬁmﬁﬁmaﬁﬁ@ﬂ

a7
() 2016 ) 20ty
(c) 2018 (d) 2019
Freaferftan s9ei 4 & feed qemm gt o #m £ 7
(@) TECITE (o) e
(v) FIET (d) I

I T T 1 T it dm = e fivard R
wfavA g 7

{a) 30 =favm by 29 wfm

(e) 28 Tieawra (d) 27 wfem

efl - 11 S 1 % i i
T e d 4 7 3w = www Hif |
et -1 gt -1

A. fi7a =1 5 i Ui
D. Tl T Tt - iv. Wt
F:
A B C D
fa) v il g ;
[/ T iv i ii
() 1y 1 iii o
(dy i ii ra i
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The main folklares of Uttar Pradesh are
(a) Darun, Awadhi, Braj

(b) Karuna, Bhakti, Shaira

{e) Drapad, Bra), Karuna

(d) Birha, Chaiti, Dhola

Which are the major folk dances of Uttar Pradesh ?
(a) Bihu, Ghoomar, Garba

(b} Charkula, Karma. Pandav

(c) Rau Nacha, Bhangra, Rouff

(d) LavamiBathak. Jiathakak

Trade Facilivation Centre and Craft Mugeum 18
established in the district of Uttar Pradesh

(a) Prayagraj
b} Varanasi
(c) Ayodhva

{d) Amethi

The [FFCO urea plant is established in which
of the following place of U.P. 7

(a) Unchahar
(b) Aonla

(c) Jdamshedpur
(d) Jagdishpur

Which one among the following is NOT
correctly matched ?

Provision Part of the
Constitution

(a) Citizenship Part — [
(b} The Union

Territories - Part — VII
{c) The

Municipalities - Part — X A
(d) Elections - Part — XV

Dad
En

e
=1

28,

3y, ¥ g o A R
(a) TEA, yavl, w4
(b) Feom, ufF, wE
(c) A&, W, 2

T W % S i g FH-E R 7
(a) e, ¥m, man

(b) e, FH, TUEE

(¢) TTHATE, WTTE], TEF

(d) FEvlt, HYE, FGhA!

s g 5 v e =iy A TeE 39, &
e H

(a) TS

(b ST

() srgrea

(d) et

TR A FREE 3.9, F et Y e e

wE 7
(a) SETER

mﬁﬂﬁﬁﬁﬁgﬁ%azgg?

Bl HiEU= w1 wm
(a) AArTiCEFRT - um-q
PETRE _ ym_ov
(c) FaTfereT — WmM-IXA
(d) Frafsm . oWm_XxXV
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Criven below o
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s Assertion (A) and the othey
Assertion (A) .

aa Reason ()

Phe executive powers of the
state areexerciaed L BrI%UYe
(Y5 o i [y
thelaw of the Parliamens and the laws applied
mnthe state,
Reason (R): The governmen; of India can give
necessary direction' to the stales byusing its
EXeCUtive powiers.

Select the correct aiw ey from the cades piven
below

Codes :

{a) Both Avand Rare true and Bisthe
correctexplanation af 4

() Both A and R aretruesiid R is not the
correct-explanation of 4

i) Astrue but R s false

{d) A 1sfalse hut R ig true

Mateh the List — I with List — [l arnd'saleet the

correct answer from the codes given below,

List - T List — 11
AT Schedule L. Languages
B. 8" Schedule 2. Disqualification
on Lhe ground
of defection
(. 9% Schedule 3. Union, State

and Concurrent
Lists
D. 10%h Schedule 4. Validation of

certain Acts

Codes -

A B C D
(a) 4 2, 1 3
(by 3 I 2 4
(c) 2 3 q 1
(d} 3 1 4 2

the compliance of

18|

1.

The Vision

TEJAS -1

{14 21 spere fou ma E, 3 4 o i (A) T
25 O (R) #

sifirem (A) : T i seforfe wfFm @ v,

e & WA a9 T # AT R S

Hifrad T B B0 8 |

HR0T (R) : A9 shrdurfera wifaaa) &1 vam 595

OiA TIEE i &) 990 Fe9 2 a1 &

J fon w1 2 A # wf I = == i

F:

=1 A 79T R 9E1 & & R, A =5 =
FTA] 2

() 2T A e R A8l @ 3 R, A & 75 =
T 2

(¢) A& 2 e R 1w 3

(d) A w57 2 foeg R @70 B

ial

A — 1= g=1 — 11 & oy gifem Fifse 7 2o
T e H HWH I =19 Hifm

qei - 1 =11

A, FE] et 1. H&w

B. el s 2. EF iEdT =
T W FeE

. A e 3. H9, 750 a0
woadl i

D, gt s 4 Fo it &
et =R
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Which among the following is NOT correctly
matched 7

Bodies Establishment
{a) Inter-state Council — 1990
(b) National - 1954
Development
Couneil
(c) Central Vigilance — 1964
Commission
(d} National Human 1993

Rights Commission

Given below are two statements, one labelled
a8 Assertion (A) and the other as Heason (R} :
Assertion (A) : When the payments made
by a country exceeds its receipts from trade
of goods, services, transfer and net income is
called Current Account Deficit (CADY.
Reason (R) : Current Account Deficit (CAD)
oceurs when a eountry exports more goods,
services and capital,

Choose the correct answer from the codes EIven
below.
Codes :

(a) Both A and R are true and R i= the
rorrect explanation of A

(h) Both A and R are true and R is not the
correct explanation of A

(c) Aistrue but R is false

{d) A is false but R is true

i

Which of the followin

g statement about green
bond is NOT true ?

(a) Green Bund investment is only for
climate friendly projects

(b) Green bonds were first introduced by
European Investment Fung in 2007

(c) Green Bonds are Financia] Market
Innovation

(d) Green Bonds are fixed interegt loan is
short date maturitieg

2z

33,

34,
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Prefafiaa i @ ®) vt gafera 7 &

axm Eac I

(a) A=R-U= ufine - 1990

) T T g 1954 -

(c) F4rT TAHAT AT — 1964

(d) T gEETEER. — 1993
3T

A< & w9 GE T B, TF AHE (A) o 7@

= F0 (R) ¥ fafe fe man 2

FHVA (A): T UH AW F YIAH 36 SR 3

Seqaft, Tanatt, s v faerg s e

# HAfYs B 9 # 79 I = @ e (CAD)

S8 AR

®RU (R) : T @i 91 (CAD) 9 & 2 9@

U < S, Bt v Goft w sty Rt

HT R |

I fow 7 e § F WA 3w =ww S

% :

(a) <1 A9 R oea 2 797 R, A ) 5 =
Tl ®

() 21 A 7 R wr 2 wen R, A 6w s
TE W B

) A5 B ffg R o 2

(d) A 39 2 5 R geg 2

A e F Wy § B ¥ Y g o O
TR ?

(a) B =g Py 3 forx wina
¥ g & = :
(b) BRE et N wyey 2007 # it feaw

w3 Wl R oy
(c) &fta WS i wrom e &
ﬁfzﬁﬂmﬁamuﬁw%mﬁﬁ
aftgeaa e &
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- ] J'..\'|HJ and their
maitlerent venpes
Years ;
"v't*nur
LA B i
B I Chennai
B 400H

1
11
IV

=outh Gos
20149
Lucknow

Hyderahad

Select the correct Answer from the endes given

below.

Codes

A B C D
(a) | I AN
(hy 11 I IV 11
)1V HI | L1
(d) II W [ 111

Given boelow are two statemente, one labellad
as Asszertion (A) and the other as Reason (B) :
Assertion (A) ; For education and culture a
Centre for Cultural Resources and Training
(CCRT) was set up in 1497%

Reason (R) : The objective of CCRT was to
link education with culture.

Chooze the eorrect answer from the codes given

below.

Codes :

(a) Both A and R are true and R is the
correct explanation of A

(b) Both A and R are true and R 1s not the
correct explanation of A

ic) A is true but R is false

{d) A is false but R is true

“Wangla Festival” is celebrated in the following
Btate

(8) Mizoram
(e} Manipur

(h) Me ghalaya
(d) Tripura

An ultimate source of energy stored 10 Toem)

fuels is
(@) Earth
[¢) Sea

by Sun
(d) Moon

da

36,

38.
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fetha w3l 304wy = fafi= avl & 7

gafaa $ifam |

aq Eeie)
A 2016 I w1
B 2018 11, cfiqu e
C. 2019 11, ¥E3=
D. 2020 IV. 2euEr
i feu 79 e & 8 wft I w1 T A |
T

A B ¢ D
(a) 1 IV Il
I 1 v L
@IV 11 I 1
(H 1T v I 111

+1a 2 sud fu 0 2, B v sl (o) @
gEL &t T (R) Faffed fem man 2

wiwEua (A): e w3 wesfy % fou arshrs
HETeA U9 WEm e (W@ s AL & s
at 1979 § 1 T of |

FAO(R) : HHLIRA . T e e 5 odofy
o T o7 |

= o @ 2 § | udt I w5 T it |
% :

(a) T A TT R 99 8 %1 R, A &1 961 =50

EIGIR
(b) TA1 A 7T R &7 & 791 R, A § & saveg
T Fa #
() AW & fig R 3w @
(dAsmatfrgRET 2

“gren s e o= W A s 2
(a) fortrm (by HeTerd #
(c) wftrqe (@) Bgu

wiraret~deai % v Fat @ = i

(&) 7ot ) T
(c) @95 (d) ==H1
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of an ecosystem L8
b1 Buomass
() Solar energy

triving force
(a) Carbohydrate

|:._:r |“';|_:'I1‘_||rll

Which one of the following 18§ essential 1n
corroston of iron metal 7

(a) Oxvgen anly

() Oxyvgen and moisture

() Hvdrogen only

() Hydrogen and moisture

Which of the following 15 a naturally occurring
hardest substance 6n the ecarth ¥

iay Graphite

(b Wuarlgite baron nmitride

(el lrom

[d} Diamond

Which one of the following instrement isused
tor locating submerged objects in the aeean 7
ta) Andio meter
o) Sextant

(b} Galvanomerer
(d) Sonar

‘Ramsar Convention” ia related to
tal Climate change

(b) Pesticide pullution

(el Ozone laver depletion

(d) Wetland conservation

st th Liet — IT and se] : '
answer using the codes given below + ¢ U

List -1
List - I1
AV 1
B ;tamlm K 1. Wheat germ oil
- Vitamin D 2. Lemaop

C Vitam; 3 o =
e amin E 3. Cod-liver o1l

Yitamin ¢ 4. Alfa-a)
Codes | He

A B

fa) 1 g E >
b}y 3 3 4 -
ey 2 3 4 :
(d) 4 3 1 l
Who am
il ong the fullnwing foung,
rr . Nded thpe “Lathi
4) Bhagay Singh
ih) Lals Lajpat Raj
.['I'.‘ Ba!_GHngadhur Tilal
(d) Bipin fihandra Pal

~10-
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Wﬂﬂ?ﬁ "‘fﬂ o] ".TJ.-_:F e ?:i":l'[ ?
(a) IETETFSS (b1 =Ty

() =hTEA (d) #R g
frefefaa g FT-H = BT

FH & F me,
(a) hAA HTFTAF

(b) FFET T 7
(o) ﬁﬁ 51-55"'_"7{

(d) BISSI34 941 THT

ﬁm%ﬁa?!ﬁﬁaﬁ%mwﬁqﬁrmmﬁw
# W AT ST FEE e g 3 o

(a) THEZ

(1) FEATEE WA 15158

{c) FTET

() ET

wEETT d gdl 2 aeg i i Rl w i e
H H o8 93 =1 3w o w7

() e ey (b eaAmHE

(c) HFOd2 (] HHET
e

(a) FoTeTg FiEea &

(b) Frer; s 3

(c} SATHAT 9 &7 |

(d) AT Hra &

qh 1 e 11 & gafern A

T FT Y g I F T899 A
S s
A, Frerfim-% 1, Ty A
B. faarfi= - 2. A 2
C, faerfm-3 3. We-TP1
D, faarfis-i 4 HEH-HH
F:
A B C D
(a) 1 2 3 4
by 3. 1 4 2
e} 2 3 4 1 ;
(3 4 3 1 2 --gﬁﬁiﬁ
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I na 1 LITiE 1y NIMk Angt r.ll..-':l |.“II RUEE &

lot ot work has to he dane on this earth” whose
gtatement 1s abuve 7

fa) Swami Vivekanand

th} Swami Davanand Suraswar)

(e} Swami Ramakrishng Paramhans
(d) Swami Ishwarchanera Vidhyuasagar
Consider the following evenig.

| Clive re-arrival in India

2 Treaty of Allahabad

4 Battle of Buxar

1 Warren Hastings hecarm: India’s Governor,
Select the eorrect chranslogical arder of the
ahove events from the codes given below
Codes |

{a) 3.2, 1,4
€ 1,2 3,4

(b 3, 1,2, 4
(dy 2, 1.4. 3

Match the List — ] with List = Il and select the
eorrect answer from the codes given below

List - 1 List - I
A Treaty of 1. 1734
Allahabad
B. Treaty of Aixla 2 1748
Chapple
C. La Bourdannais 3. 1748
Capture of Madras
D. Dupleix’s 4. 1765
dismissal
Codes -
A'B C D
@ 2 4 1 3
by 4 3 2 1
) 8 1 2 4
@ 1 4 2 3

Rajm-nama” is the Persian translation of which
gy text ?
(b} Mahabashya

la) Ramayana :
(d) Ashtadhyayi

(g) Mahabharata

The Vision

16

_11-

4H.

44,
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Syt & a7 H d1dd & e 0 e gEa 990 2 T 6
sft g8 ol W AT ARA @ T A 2 ST
Fug Twgw B 7

(w4 B TR

(h) E=TE BT g

(c) TATH THF THEH

frefafad gemat o famm Fifay |

| FATEd 1 TH: qTA AN

" TETRTETE 21 HiY

3. FH#ET H GE

A, arq gfeera @1 v w7 waEt a9

TF g2 F Fed B F e AEET F
Frafefigs ¢ o O 28 %9 F =97 Fra0 |

E T

fe) B S5

T 204

e e ?-l (d) 21 4,3

T 1 F = I F Ay gqifem Fif aur 9

720 T4 2 4 ot 39 %1 =99 Hifew

e -1

A, eTEmER &1 afy 1, 1754
B. wwen I # @iy 2, 1746
C. & TR Z0 T I S 3. 1748
D. g #F qz=gfd 4. 1785

2

A B C D
{a) 2 i 1 3
= 4 U 2 1
[ 1 2 4
(dy 1 4 2 3

'W’ﬁmﬁgmaﬂm HERER 7
(a) TTHTD
gy HETHIA

(h) WEIHTS
(d) et
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Coneider the following battles and arrange these
im chronologieal order.

| Battle of Kannau)j
I Battle of Chander
[l
Y

faltle of Talikota
Battle of Chausa
Select the correct answer from the code given
below.

Codes :

ta) L IL TV, L
bep VI THE

by ILING T T
id) LAV 11, 011

Arrange the followine events in chronologieal
vrderand seloct the correct answer from the
cades piven below,

1 Gandhi-lrwin agreement

2 Poona Pact

3 Declaration of complete National

Independence

4. Civil Disobedience Campaign

Codes :
{a} 3.4 1,2 3 B el s
c) 2, 1.3 4 (dy 4,3.1,2

Martch the List — I with List — II and zelect the
correct answer using codes given below :

List -1 List - 1T
A Indian 1. Anand Charlu
Assomation
B. Poona 2. Surendra Nath
Sarvjanik Benerji
Rabha
C. Bombay 3. Mahadev
Fresidency Govind Ranade
Association
D. Madras Mahajan 4. Pherozshah
Sahbha Mehta
Codes :
A BC D
fay 2 3 4 1
M 2 4 3 1
ey 3 2 4 1
d) 3 4 2 1

50

2l
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TEJAS -1

fpaferfiaa gt w faam Ao 7o 38 o
FTAGRHIAET sqafeaa HI |

[ & 1 4g

11 =t 1 35

I1I. AfiRizl &1 4g

V. 9 & 4G
fr fou M gz d 7 wE I F T
e !

{a) L. IL. TV, III
(c) TV. 1L, 1, I

g I, IV 1,111
() I, TV, I1, 111

freferfisn Sena St 7% FERAHER SEEm
it wn A2 R 2 8 @8 3w & == Fife |
1. Wit -zafas wwsiar

2, Gl d2

3, i g = i g

1. Afea I FTRted

e

(a1 3,4, 1,2
(© 21,31

b) 2,1,4,3
(dy 4,3,1,2

-1 1 F=-11 F 7y gifer Hifm qen 59 f2e

™ 92 % WM w5 7 I w5 w2 B
&t -1 qdt -1
A e vEfeeg  x 3R SR
B. WusTHs N 2 S af
C. wrard defiedt 3, HeweE e

waftreE
D. H5E HEEE 39

TS
. Ttz R

fry

A

A BCD
(3 2 3 4 1
M2 4 3 1
) 3 2 4 1
d 3 4 2 1
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fe) Gujarat

58,

Who was the compiler of
(a) Cohn Clark

(b) William Wilson Hunter
{c} Charles Elliott

(d) William Digly

the “Imperial Gazetteer” ?

With reference to the establishment of Supreme
Court, which of the statement ig /are correct ?
1. Supreme Court at Calcutts was
established by the Regulating Act of 1773,
2. Lemaister was the first Chief Justice of
this Court.
Select the correct answesr using codes Eiven
below.
Codes :
(&) 1 only
(c) Both 1 and 2

{b) 2only
{d) Neither 1 nor 2

Colour of the tag uzed on certified sead
bags is

(a) blue th) purple

{c) white {d) golden yellow

Which one of the following is correctly matched ?

(a) Cooperative — MK Gandhi
Movement

(b) Etawah Pilot —  Albert Mayer
Project

(c) Grow more J. L. Nehru
Food Campaign
{d) Sewagram

Project

Vinoba Bhave

First intercity electric bus service of the country
under public-private partnership model in
February 2020 have been started by the State

(b} Karnataka
(d) Tamil Nadu

(a) Maharashtra

Which of the following is NOT correctly matched
under highest crop cultivated area of Uttar
Pradesh ? '

Crop Distriet
(a) Mustard —  Agra
(b} Potato —  Farrukhabad
c) Maize — Varanagl
(d) Sesame —~ Hamirpur

The Vision
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TEJAS -1

“efTfs TAfem” ¥ Heehdl S 4 7

=
(d) farferam femft

waTe =T e & ey o i 4 8

FH-ET/A T WA R 7

|, e § gate =rarem e 1773 %
ineifen uwe & g &t et ot

2. PR TH AT 3 Yo g At & |

9 fou 7 w2 A HE IR F v FOC |

®E
(b) F=a 2

(2) 399 1
(c) BT 1 =it 2 (d) FaT 1 FTIA 2

varfvm ot % ¥ s wEh B 9 T g W
g

(a) Frem (b)

(c) FE (d) FAET Fre

Freforfias & & F5-m o TR gakm # 2

(a) TEFIRE 32 — ., ¥, i

(b) SerEN e - HFEE WA
bl '

() 3 ST T - FowE ¥
AT .

(d) HEEm e = frar g

o 1 vEed i SeE a9 S wEd 2020 &
ufecieh-uTgeie Wisierlt Wigw F wnla I = A
TR

(a) WERT (b) FAfes

(¢) T (d) whrerTg

F=ferfEn 4 & 30 TRy ¥ oeifs woe 8 &
Fwi wE e Al B 7

HHA AR
(a) FEAT B L
(b) 3ms - g
(c) YER = Eitaursl
(d) o N L
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With reference to Deposit Insurance and Credit
Guarantee Inaurance Corporation, which of the
following statements 18/are correct 7

1 A subsidiary of Reserve Bank of India

2. Deposit upto Rs. 5 lakh are insured by 1t
Select the correct answer using the eodes given
belaw

Codes :
{a) Only 1

{c) Both 1 and 2

(b} Only 2
{dy Neither | nor 2

Mateh Last =Twith Ligt - Il and gelect the coveect
answerfrom the codes oiven below,

List -1 List— 11
(Bank) (Type)
AL Indisn Bank 1. Fareign
B ICICI Bank 2. Cooperative
. CITI1 Bank 3. Privats
1}, Saraswat Bank 4. Public
Codes :
A B Cc D
(a) 1 2 3 4
(b) 2 3 4
(c) 4 2 3 1

(d) 4 3 1

]

Given below are two statements, one labelled as

the Assertion (A) and other as Reason (R),

ﬂllssertian (A) : Under Operation Twist, RBI

simultaneously gell short term securities and buys

long term securities, .

Reason (R) : Thetmain nh:_iﬁir?we of this OREration

15 tp promote long term investmenl.

Select the correct answer from the codes given

below

Codes :

{a) Both (A) and (R) are true and (1) is the
correct explanation of (A)

(k) Both (&) and (R) are true and (R 1= not the
correet explanation of (A)

{c) (A) 18 true but (R) is falge

(d) (A) 18 false but (R) is trye

) )

Bl
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TEJAS - 1

farfore 32U1tA TE gz M= gwits A & w=y
5 Feyferfian wuAT § & HE-91/8 FUT AE R 7

| wrdTa frad &= &1 0 TEEE R

o . § @ E A gEE g A

9 fam 0 2 1 W FAA RO HE] I H T4
eI

fﬁd‘:

(a) =hae 1
(pgHl 1 3 2

(b} A 2
)y Ad1amade

gt 1@ A 14 | aefea Fifm v 5=
Tou 14 ¢ & GE 3T 1 =98 A |
g 1 o LI |

(=) (=)
A 3fe 3= 1. Taesfht
2% ﬂﬁ?ﬁ&ﬂ'ﬁfﬁﬂfé #F 2. Hewwl
" Fudt dvm - faeft
D, SR dF -4, HEEAH
e !

A B & D
(a) 1 2 3 4
(h) 2 3 1 4
() 4 2 3 1
(d) 4 3 1 2

A 21 e e B Gl o = e (A) Ao

T T Fw (R) & Tafen e w2

wf¥rerem (A) ; o TR & et

A1, 3730 # TWT § ot qfegf it

weFL AT el i wtem 2

R (R) 50 HITIW 1 YE&a 898 S

1 FEET 2 |

ﬁ%ﬂ,rl&ﬂﬁ@ﬁmmmm|

%

L) 2T (A A9 (R) BT 3 o (R, (A) ) Hel
ey B

(b) ZFTT (A) A9 (R) T2 & 7o (R), (A) ) =@
=med el #

(o) L-I]ﬂFﬂ%fﬁ (R) 30 2

(d) 1:‘&]3114?&1%%1}{}%%
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Which of the followimg 15 4 sucial abjective of
buriness

a) Tnnevation

(b Emplovment generation

{c) Business coordination

["_;1| Hizk MIanage ment

Aceording to 201 conses among the tollowing

states; which ane has the lowest leve] of
wrbarmsasion

1) Andhra Pradesh
ey MMizoram

(h) Haryana
() West Bengal

In which of the following statehinion tearitories,
the “Jarawa Tribe" resides ?

(z) Arunachal Pradesh

(b} Lakshadweep

(e} Chhattisgarh

(d) Andaman and Nicaby

- Match the List — I with Lict — |1 and select the

torrect answer from the codes mven below.

List - List - IT
(Mining area) (Mineral)
A Guru Mahisani 1. Zinec
B. Talchir 2. Tranium
C. Jaduguda 3. Iron-Ore
D Zawar 4. Coal
Codes :
A B C D
W1 2 3 4
ke 4 3
@3 4 2
(d} 3 2 1 4

M_ﬂnmﬂh originates by which of the following
Winds i India ?

(&) South-West winds
®) South- Eagt winds
(e) North-East winds
(d) North-West winds

The Vivion
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TEJAS - 1

Fefifian § & =yaam = st 3@ & 7
fa) FEMERE

(b) T HoA

(¢) SAEENYH HH-=g

(d) FftEy yewe

20115 o o [, et vt § s
Aidientr a1 AT Had g R

(o) Y TETT (by Bt
(¢} THTH () OfFam &

Tr=iefias =g /3 st o=t © s Fee
=1 Framg sy 2 7

() 3O Wem

(b) FEEN

{c) BHETR

(d) F=IE #R Freemn

g5 L T 11 % e g SR i Aa
8 T 2 & @2 3 % = i |

Ht -1 S CUER
(@A &) (&)
A, T Higmr 1. e
B. #E=R 2. gty

C. STgrE 3, wiie-aaes
. aman 4. ®TE
e

A B ¢ D
{a) 1 2 3 4
(b) 2 & 3 ]
{cy 3 4 2 1
(d) 3 2 1 4
mﬁwﬂmﬁ%ﬁmﬁﬁaﬁqﬂﬁﬁm
FLLBCil S
e} STETfRa qam a
(h) &févI-qd wam g
(c) IR v grr

() IT-9EN g7 7
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Tropic of cancer does NOT cross which of the
following State ”

(k) Chhattizgarh

i) Mizoram

(@) Tripura
(e} Manipur
Match List — T with List — I and select answer
from the codes given below,

List — 1 List - 11
(Country) (Capital)
A Myanmar 1. Hanm
B. Combodia 2. Vientiane
C. Vietnam 3. Phnom Penh
D. Laos 4. Yangoon
Codes :
A B C D
(a)1 - 3 R
{b) 2 3 4 1
(e} 4 3 1 2
(d) 3 1 2 1

Match the List - [ wath List - I1 and select the
carrect answer from codes given below,

List -1 List - IT
(River) (City)
A. Shatt-al-Arab 1. Vienna
B. Paraguay 2. Basra
C. Niger 3. Asuncion
D. Danube 4. Niamey
Codes :
A B C D
(a) 1 2 3 4
{b) 2 1 4 d
(c) 3 4 1 2
(d) 2 3 4 1

Newly introduced Prerak Dauur Samman by

Government of India in July 2020 is related to

which of the following ?

(a) Crime status of city

(b) Electricity supply in city

(¢) Waste management and sanitation status
of city

{d} Vegetation cover in city

Ll
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frferfad # & 6w 70 B %5 T e 8
(a) Foqu (b) wHrETR
(o4 “HTTY (d) Torsng
get - L gE - 11 % Wy gEfEa fifa a5
Fou T 2 & WE I W WA I |

e - | T - 11

(37) (T
A, FITHR 4. &8
B, e 2. fagafs
C. femmms, A, A U
D #EE 4. T
k-

A+ B C D
fa) 1 3 3 4
by 2 a3 4 1
(& = S 9
(d)y a 4 i !

Tl - 1 geft - 1 % wry gafem Fifag g
914 fBu T Fe 8 uft 3 w1 wwa i )

T - 1 et - 11

(=) ()
A T~ - 37T L g
B. W 2. wET
C. g 3. 9t
D. &= 4, Famd
0

A B C D
(a) 1 2 3 4
(bh) 2 1 4 3
el 3 4 i 2
(H 2 2 4 1

TS 2020 F WA TN G0 s P S A
o Freferfea O 3 el wefim i o

(a) TR § 3R 6 Ry

(b) e 7 faweht syl

(¢ 3T Taem ok v f wea Rl

(dy & § 9 w5 avEmn
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AT HE e corses
[y Nageaiand

LI %
el Assam

[ &)
irkilys Faorvar celebrnteodd by Ciowvornment of

urnge dune-luly 2000 = related to

| i i-: vl aterany

T boekrdena

iy O
Prechication towards srms

(el Ohpndine eduention

Hlue Revolutusfi® is relatied wath the (o)l wing
ta) Food gratth production
ih) Ol seed production
() Faishipraedue! on
(d) Milk pradustion

" Which of the follewin g rivetsabe "“Chitrakate™
water (a5 logated
(4) Yamuna H_iver
th) Mandakim Kiver
(¢} Indravati River

(d) Narmada Kiver

75, The Kumaun Himalaya is situated between
which of the rivers ¥

{a) Indus and Satlu
b} Kal and Tista
{c) Satluj and Kali

(d) Tista and Brahmputra

6. The National Afforestation and Eco
Development Board (NAEB) was set up by
Government of India in the year
(a) 1887 (h) 1992

(c) 1995 (d) 1998

Which one of the following Waffht’hg Lhim:uﬂ:
Statistics Day celebrated on 25° June 2020 7
(a) Statistica in Trade

by COVID - 19

{¢) Statistics in Governance

i 2nals
{d) Sustainable Development (08

AT

-1
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2011 & AT 4 HAAT YA H fnatatan s
) § s T ) A P R

(n) & (h) ATTIE
R icer iy HHA

VTR AT B I - SETE 2020 H wER T Hahe] e
yafam &

ia) j&ﬂTTT"H =

(b e AFeT 4

(&) 8- afi wadm |

(1) Fee fem &

ikt sfe” Fre 1 8 o

) G G A

(b P Teme &

ve] A SEA |

(Y g e

Tt ga v PfefefE daffm @ w2 s
(a} IL'_H‘HHT"T'H /

(i) HETRAL AE) W

(e Fraradl T 9

() e ) W

= femrem Fefefes 4 fm afedi e fem 7
(a) Ty i wae
(h) =et 3 e
(e} FETT W FEAl
(d) foem st g

e gt v iRt e 9 (NAEB) 6
T WA T g TS o

{a) 19879 (b) 19928

(¢} 19959 (d) 1998%

fefafEa & 8 39 T 29 7 2020 9 TR
ifeah fam = fwm (dm) @ ¢

(a) Eﬁlﬁﬁm :

(b) #il9E — 19

() TR | wifEER

(@ A T e
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Which Bollywood actress received the “Padmashr”
Award in the year 20207

(8) Taapsee Panny (b) Shraddha Kapoor

(¢) Kangna Ranayt (d) Bhumi Pednekar

In January 2020 how many “Padma Vibhushan"
were conferred Pnsthumcmsly ?

{a) 4 (by 3
{c) 2 dy 1
Who

has been honoured by the Intematiurfal
Olympic Committee with the “Coaches Life
Time Achievement Award 2019" °

(a) Ravi Shastri

(b} Pullela Gopichand
(e} Prakash Padukone
(d) Sunil Gavaskar

International Mother
celebrated on
(a) March 20
() February 21

Language Day 1s

(b) January 95
(d) December 27

"Operation Vanilja” launched by Indian Nawvy

In January 2020, ig related to which pne of the
following ?

(a) Disaster Management
(b) 0l Exploration

{c) Anti-Terrorist Operation
(d) Coral Reef Conservation

Joint Military training exerpige “Ajeya Warriop.
2020" was ca rried out betwe

en which of the
following countries 9
(a) India and United Kingdom
(b) India and Israel
(¢) India and France

(d) India ang United States of Americg

With reference o ©

harat” which of t
18/are correet 7

1. This campaign w

February 2020,
2. The objective 18 to promote
National Integration
cultural activities
Select the correct answer from the codes given
below
Codes !
(a) 1 only
{c) both 1 and 2

Ek Bharat, Shresthg
he following statements

88 carried from 10th 1 ggth

the spirit of
through various

(b) 2 only
(d) Neither 1 now 2

-18-
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81,

82,

83,

84,

form arefiae sifirs 3 a4 2020 F 'wm"mm

a2

(0 TG TR (b) G FY

(2) T T () ¥fty Sy

sHS 2020 ¥ faay ﬁmgﬁﬁ%
PHERET R ORI '

(a) 4 (b) 3

(c) 2 (d} 1
mf@qﬁaﬁ?ﬁﬁlﬁram%ﬁ‘

DI W e
W S 2009" & T fgy 1 -

(a) T vt

) GeeTe Tiifteg

(¢) THT91 TEHm

(d) FRe e
mﬁrﬁ@amﬁaammmm%

(a) 20 H =t (b) 25 Sttt

(&) 21 w7 (d) 21 femmmy =
ﬂﬂ?ﬂnqﬁhmmzmnﬁgﬁﬁmW"ﬂﬂm
e ¥ A fo6E w2

(a) FHI9ET Uiy

(b) 7@ $it @

(c) 3TwaTe Raeh sriem

(d) wame fufer deem

- =1 v s "I FfET-2020°
PR 419 o o & o
(@) WA i FETEE fen

(b) e 3 gerrser

(c) Wi aft wrw a

(d) v 3t gy T

T e s i & e # Fffen 7

g7
?ﬁ“ﬂﬁmmlfmﬂ H 28 wEl 2020 T

E?mrla%w?«'"ﬁm*"”

A Ry g # 3 T A

2

(a) e
(cyert 19 2

(b) ¥=a 2
(@ A 1MAR 2
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TEJAS -1
i5. :f { ::Efl. FI]::i'::l\:"i L:E.M'{E.!d oa& "]_IE -:E"."-I.:H.. fh,[::n Th!-" |'.'UdE' .\_-{5 qﬁ CﬁRPET aﬁ"ﬁ mﬂT ﬁ' TEEAPR %ET _\iﬂ?ﬂ 31
or WATIONAL would be F v o :
%1 g2 v # ferar SR
"% TFT" r a

(¢} LNAANTOI

ey TNAANTOI
(d) LNOINTAA

(d) LNOINTAA

8 A tram is running 3 mmrates late and forther | 86, T Yo 3 firre faera @ 9o ot @ ok wm wE
it is getting delayed by 3 seconds per minute. T i 3 fe Ao it 3 @ 2 | =,

After how many minutes this train will be

oot ) 25 @ temd fren firdl & wrg @ 1 wer e
elaved one hour ?
. £ st 2
ta) 1140 minute {b) 1150 minute (2 1140 firre {b) 1150 firre
() 1160 minute (d) 1808 minute () 1160 fire (d) 1800 fire.
#7. Ina certamn code language (T HE = 41 and 57, = uw Pfvam 3= owmw 4 afe HE = 41 )14
SHE = 49, then THEM will be equal to SHE = 49 2 ma THEM e st #rm 2
(a) B2 {b) 80 (a) B2 ~ (b) 90
(c) 64 (d) 56 (e} 64 (d) 56

88, 1f3"™ December 2000 was Sunday, then whatwas | 88, #f 3 few=t 2000 %! taam w1, & 3 9=l 2001

the day of 3™ January 2001 ? Tt T -7 feq o 7
(a) Tuesday (h) Wednesday (a) AR &) q9ER
{c) Thursday (dy Friday {c) TFIR (d) YEFEm
88, “Dream"isrelated to “Reality” is the same way as 89. T I T "ﬂ'lﬁﬁﬁn‘ﬁt, ity fyer
“Falsehood” is related to which of the following ? = g e A Rl g 7
{a) Untruth {b) Truth (a) T ) "
(c) Fairness (d) Correctness {c) Frogemn (d) TEm
%. What number would come in place of ? 00. T wm ¢ w FR-t g @
/N /A
348 8 i{ 18
172 40 172 40
X/ \/
(a) 72 (b) 84 {{2 ;g (by 84
B (c) 68 (d) 60 ey 0
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How many capital letters of English alphabets
have same mirror image ?

(a) 4

(b) 10
e 11 My 12
Where is “Leather Technology Park” situated ?
(a) Agra (b} Kanpur
(c) Unnag (d) Noida

When was the State High
establigshed in U.p_ 2
(a) 19490
() 2000

er Education Couneil

(by 1995
(@) 2008

Which one of the following pairs is NOT correctly

matched ?

(a) lIVR - Lucknow

(k) [IPR ~ Kanpur

(el IVR1 - lzatnagar

(d) IGFRI - Jhane:

Which one of (the following pairs is NOT correctly
matched ¢

(a) Hem or laca waorl —  Lucknow and

Varanas
(b) Brass Idol/statue Mathura
(e} Locks - Aligarh
(d) Cane and sticks — Varanasij

Match the List — I with List — ] and select the

given below
List - I List - I1
(Fair/Mela) (District)
A. Dew1 Patan Mela 1. Agra
B. Kampil Fair 2. Balrampur
C. Bateshwar Mela 3. Farrukhabad
D. Dadri Mela 4, Balia
Codes :
A B C D
(@ 1 2 3 4
by 4 ] 2 3
@ 2 3 1 4
(d 3 4 1 2

-20-

ul1.

82,

83,

04,

96.

TEJAS=[
mm%%@m*mﬁm%
FE 7
(a) 9 (b) 10
(c) 11 (d) 12
“?’*ﬁtiﬁﬁmm”ﬁaﬁﬁm%?

(a) 3T (h) =g
CEIC (d) Tz
3.z.ﬁwmﬁmmaamﬁaﬁrmeﬁ?
(&) 1990 (b) 1995
(c) 2000 (d) 2005
ﬁﬁﬁhﬁmﬁﬁﬂq—mﬂiﬁﬁﬂ%ﬂﬁ%?
(a) 3E.37H. B 3w - TaEE
(b) 37E. 3 f. 3 - Fhg
(c) oS ot 3 and, —  TewEAm
(d) 35 5ff v 3w 3 —
ﬁhqﬁﬂ%ﬁfgnﬁi#aﬁa-ﬂT;ﬁﬂgﬁﬁﬁaqéf% ?
(a) Théw:mref —  TEES 9 SHvE
(b) diae Fit ikt — Ty
(c) @A - ety
(d) 57 7 sieg] —  aNE
Eﬁﬂ~_1aﬂifﬂ-ilﬁaaﬂafﬁﬁéﬂiﬁﬁiqaﬁniﬁ?ﬁﬁ
n&qgiﬁﬁ:mﬁaaraﬂﬂﬂa#ﬁﬁq:

T -1 T -1

(%) (F9R)
A & o ¥ 1. F M
B. wydier den 2. Sy
C. =2y Her 3 wEERr
D. Zgft T 4. =ferg
E

A B C D

(@& 1 2 3 4
by 4 1 2 3
& 2 3 1 4
d) 3 4 1 2
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g

99

100

101.

10e,

Where are Buxa Tribes bving in Uttar Pracesh
(a) Bynor (b} Balrampur

(c) Shrawast) (d) Chitrakoo

How many main Agro-climate zones are in Utkar

Pradesh

(a) by A

(d) B

e b

Acting Judges are appointed in
fa}) Supreme Court

i) District Court

{c) High Court

{d) Both (a) and (k)

Which of the followingis NOT correctly matched
as per Constitution of Tndia 2

(a) The Panchayate  — Part —TX

(b} The Municipalities —  Part —[X A

() The Cooperative Part - IX B
Socleties

(d)} Tribunals = Part — X

Which of the followng i1s NOT correctly matched 7

Fundamental Article
Right
(a) Abolition of - Art. 17
Untouchability
(b) Protection against
arrest and detention —  Art. 23
(c) Freedom of Religion —  Art. 25
(d) Protection of ~ A 29

Interest of Minorities

The difference of the Government Minnmum
Support Price (MSP) and market price, whi-:lh
18 Fatd dir:—gctl:,r to the farmoers under W.T.O s
called

(8) Blue box subsidies
(b) Green box subsidies
e} Yellow box subsidies

(d} Pink box subsidies

The Vivion

102,

_71-

HE.

99.

100,

107,

TE!JALG e l

3t e A g S ol el R 7

(ay fan (b) AEOHIE
(c) TR (d) feaege
e e 3 Pt e -y 8 R 7

(a) 9 () 8

fc) o (d) 8

a2t # fafe & a2

() TR =ATHTEd

(b Faren =rrenem

(c) I =HAFE

(A) (1) TAT (b) GHAT A

Frafafam 4 & #%9 uwefta wfaym & s9am ad

grfeA T 2 7

(a) e — WM - IX

(h:,;mwrﬁt@;ﬁ HA — IX &

(c) HEFHT At — "M -—IX@

(d) s - ¥ - X

fedasR ot gifea =i &
Titferss arftren T

{a) 3TEFFEAT T 7 - .17

(b) et vt i~ . 23 .
fereg Taegmy

(c) ud 1 =" - . 25

(d) smwe® & et - s, 29
Eaaic:

ma.aﬂ.%maﬂammmﬂq@

(CH.TH 1. ) UH W 469 S o T R )

PR e 3w 2, 7w e 2

() = =g et

(b} B A AEiEm

(c) dren atem warfre

(d) e wTrg T



104,

105,

104,

,,_.
)
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The Vision

In recently announced centenl budpet 2020.21,
in which :l-rnunl.t the following budget allocation
has been decrenacd in Ccompariann to budget
20 4.20 7

{n) MONREGA

(hy Ayurhman

i) Mid-day Meal Scheme

(d) National Ganga Cleaning Scheme

Consider the following measures that R.B1.
uses to control inflavion in the BCONOMY.

I Increase Bank Rate

2. Increase Cash Reserve Ratio

- Incrense gtatutory liguidity Ratio

4. Purchase of government securities
select the correct answer from the codes gven
bl

Codes
ta) Only 1 and 2
(c) Only 2, 3 and 4

(h) Only 1. 2 and 3
(d) Only 1. 3 and 4

Which is the tirst mont
Calendar 7

(a) Phalgun
{c) Paush

h of Indian National

(b} Magh
i} Chaitra
“Navarathri” g

velebrated ag Saraswathi Pooja
in the following state

(a) Kerala

(b} Karnataka
(c) Tamil Nady

(d) Tela Ngana
With refereno
of the fallow

LIt

etothe Indipn Culture p
INg statemantg i8/are ¢

has been developed b

ortal, which
OrTect 7

Y ateam from

_ available in pybio
aingle Platform . o

the correct Anewer from the codeg

Biven below.
Codes -

(@) Only |

(k) Only 11

(c) Both | and []

(d) None of the ahove

104,

104,

-22.

105,

106,

107,

TE.JAS I
we # 3 afra LEr
CIERIRER E O CEE R
(&) atm

(b) 3T

(c) BVATR 139 gra

dU2l-2] B 1‘-11-1f—'—rfrr;|¢: fan
20 8 T 1§ o Zar b

(a) FEd | 3 o G SE® 1 0 3 g
(c) Ha™ 2, 4 3f 4 (d) &&= 1, 3 37 4
I Tt 5 o et e 2
(a} 1Y fr) T
(c) (d) 33

S g |

(a) Ve (b) Fete ¥
(c) ftrerrg 4 8 et &
T Fepfa dider & v d, frefifes § 4

BT/ T AR

e i 8, i
1 Tge A »

II.H;EFIII[I 3 R < T -

HieHfas qanAl 1 FETRS gEe §

ewTY ¥ Iy U T R

2 R md 2 3 8§ w3 0 w2 i

%z

(a) Hae

(b) et 11
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114,

115,

P i Bt [ 2
In the vertical steuctapg | f the atmosphere
whieh one s the fowest layer
1l Stratosphere bt Mesosphere
(] TI'I;III'\-\,]I}'H'I'E

(d) Thermoaphere

"r-llu-l"ll.'h ure of T!l'll" |.|,!
car-hatteries !

fad Acetic Acid

Howing ncids is uged 1 bhe

bl Elydrochlore Avd
(o) Bulphurie Acid

iy Nitrie Aeid

Patatn chips are packed in plastic bags in the
atmosphere of

la} Nitrogen Atmasphere
(b1 Nvdrogen Acmosphers
fe) Oxygen Atmosphere
(d) Tndine Atmusphere

Which ene of the fallowing process is NOT
usetul for purifieation of sohid impurities ?

ta) Distillation {b) Sublimation

(c) Crystalhzation  {d) All of the above

Which one of the following colours of white light
i# least deviated by the glass prism 7

{a) Green colovr by Red colour
(c) Violet enlour id) Orange colour
Asafoetida i3 obtained from

{a) Exudation rom the stem

(b) Extraction from roota

fe) Extraction fram fruits
(d) Extraction from leaves

Three chambered heart is found in
'8) Mammals (b) Birds
(t) Amphibians (d) Pisces

Whe was the Commander in Chiefof the Rajput

ﬂrm}’: besides Maharana Pratap in the Battle !

of Haldighat; 7
(8) Ibrahim Gardi

(b) Hakim Sur
(i} Tard; Beg

{C” Mahmﬂ{ld Lﬂd]

The Vivion

103

110
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111.

T4

113

114.

116,

TEJAS -1

108, agEea & Frmdd doaqn 8 AJad aef o

7 -H 7R o
Qs (hy Htfema
(o) e (d) wmifEEm

Frafefaa 2t A ® frm 3 =81 39 e -Aef
o R w2 7

(a) THfeE 310

(b) EEZFATE 30

(ot HeRIfih 37t

(d) AT3fee 37

FHF % SR e At 0 HeT T T
{a} ATIETA ATeraron =
(b) FTTETAA AT H
(c) HATFHTAT FAETT o
() TR aETEm

o8 A % wEem ¥ fm Pofafes o
- Thma FTErh # 2 o

(a) HIEH fh) FEYAT

(o) fepestiam) (d) TR mft

whe g U I Prafafies o § 4 99om
e s g wad w0 forafers a2 7

(a) BO TN (W) e
mﬁmﬁm (d) Troft o

i wra & w3

CRERR-ICE:

(b) Tl & frepfm &

(c) it % Frewdo &

(d) aheal & frsmdm g
Prendta sea e ¢

(a) Tt (b) wftri &

(c) It 3 (d) wosfera
weeTd & g 5 wERon yam & sremn L
w1 R B oy 2 e
CVR BRI (o) T I

() <& An (d) wEE W



TP T DT T e T W B WY

R
5 &
i o
6 With caferance v "Lhie chuRes of the r-II].lI'Il'I_'I-'-H ful [ I,
Brtish and farlure of the French in Indua -:ﬂm "
of the following statement isfare correct .
I Getting huge wealth and manpower from
conguest of Bengal by British.
4 Nuval superiority of the British
Gelect the correct answer from the cudes given
l""hlw
Codes
() Only 1
thy Only 2
i) Hoth 1 and £
() Neither 1 nor 2
117 Which one of the following is NOT correctly | 117
matched ¢ -
Acts Year
{a} Prevention of Sedition 1808
Meetings Act
{b) Explosive Substances Act - 1908
(¢) Indian Criminal Law = 1908
Amendment Act
(d) Newspaper (Incentive to
OFf.
ftence} Aet - 1908
118, Matc ; : .
r:u:;::rthe List - Twith List - |1 and select the | ; 18
- anawer from the codes given below - )
List — s -
. I List - II
. Ram ;
gy paPRehellmn 1. 1859-60
- Fabng i
EASANL r __2. 18?9*8{}
Revolt '
C. Bengal Indigo Révolt 3 14 63
D. Jaintia Rebel]; | _
ellion 4. 1873-7¢
Codes :
A B C D
(a) 2 1 3 4
I:b} 2 4 1 3
C
{d) " 1_; 2 3 i 4 .
{ } :1 2 1 a

The Vivion

-24-

II",,J:&‘H l
"MEA G WA AT g S
FON F Hd 8 8 g a i r.r‘-.rjﬂ : iy
I EEUROR LI & EER R v ,h g
A7 w1 foe i
9 STl +) FEAr Trafrs -
= fao "T;‘J'r{;_iqi;n?r.ﬁi
e
fa) FT |
(h) F=77 2
4ej 2 1 A o
(d) 37 1 30 2 5

¥ i

Fl = F-

ﬁﬁrﬁ#@aﬁﬁm-muﬁrqﬁmqﬁa;
wiiafaan

qm
() T=ZTE A3 &1 196 37 - J4UR
fafm
(b) feresies w2 safag ~ 1908
(c) Mt WYt FHA gom
wfafam ~ 190w
1008

(d) FOT=EEIR (AT & o JeEEa) -
wfufmm |

@—Iaﬁﬁﬂllﬁmﬁﬁ%ﬁmmﬁ
fom it oz & T 3w A

a1 T -1

& i R 1. 1859 — 60
B ey e FiE 5. 1879 — 80
szﬁa%ﬁs -4 1860 — 83
D. wrifiar foEE 4, 1873 =176
T2

A B ¢ D
@2 1 & 4
® 2 4 1 F
(c) 12 : !
@4 2 10



119.

120.

121.

123,

R

The Vivion

Whi : i
a;]}%a lex}];r?uf Delha Sultangte declared himself
(2) Balban

(b) Alauddin Khilp

(¢) Mubarak Khilji

(d) Muhammad bin Tuglag

Which one of the following was NOT associated
with Indian National Army (LN.A)?

(a} Rashid Ali
(c) P.K. Sahgal

(b) Shahnawaz
(d) B.C. Dutta

Which of the following statement is NOT true
about the “Quit India Movement of 1942 %

(a) It was led by Mahatma Gandhi
(b) Congress was declared an illegal body
(c) It was a non-violent movement

(d) It was a spontaneous movement

By which of the following Acts was the India
Council abalished ?

(a) Morley Minto Reform 1909

(b) The Government of [ndia Act 1919
() The Government of India Act 1935
(d) The Indian Independence Act 1947

Consider the following events and arrange.

these in chronological order.
L. Cripps proposal

II. August offer

II1. Wavell plan

IV. C. R. Formula

Select the correct answer
given below.

Codes :

(a) 11, T, TII, IV
by 11, 1, TV, ITI
&) T, 11, IV, 111
(dy 1, 11, I0L, IV

from the codes

119,

120.

129,

123

_95-

TEJAS - 1

feeht weama & form T 3 3193 o =t “adiwr”
it 5 R o 7

(o) H9S

(b) 3 fgesh
(e) ETTH Rawft

(d) qe=we fom e

Feffand e sm F, R A (duA,) AR
mAf g 7

(a) THfg 37eh
(c) B . T

(b) ¥mETETS
) &t & =\

‘1942 % YA BRI WA F wit § Prefifen §
- TR 7

(a) ¥91 A9 HEweT MY gRr fear T -

. (h) W S UH SmAiyE g St fwn T

(c) TF T HTET+ HrEem o
() TB TF =T Wr=reT o

Freferfan sfufeas 4 @ s gm W ity (gfoam
ﬂfﬁﬂ:_ﬁmmm ]

(a) wTe o=t gum 1909

(h) WrA wE whrfaan 1019

(e vTEA TrE Afufaam 1945

(dy WHA mEa=aa wulme 1947

Freferfign geman w faaw fifie qen 2
FIFHREIAR SareT A |

| fm wmmE

1l 3 TETE

111, &&= g

v, ®. 3m. wren

fra fau 72 ¢ @ =it I w1 gAE Hifaw
T2

() 1L 1 TIL TV

(b) LT TV 1L

() LIL TV, 111

@ LI TV
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124

124,

B, Muskmelon
C. Cotton

[}, Lingeed

The Vision

Which of the fuliowing 1 NOT correctly mitched
Organisation Person

() Young Bengal Henry Vivian

Movement [Deropin
by Bahishket Jyotiba Phule
Hitkarin sabha

() Theosophical ~ Colone: Oleott
Hociety

fd) United Indian Sved Ahmad

Patriotie Khan

Agenciation

Which ane of the following 18 NOT correctly
riatched 7

Crop Weed
{a) Wheat - Phalaris minor
(b} Paddy - Hathua
() Pea - Piyazi
{di Berseem - Kasnj

Match List - T withy List —

EihSqu.-E] &[]m E-I].i' EfldEﬂ EI

ven helow -
List -1 List -]
{Crop) (Season)

A Sunflower 1. Kharif (rainy)

2. Zaid {Fsurnmer:‘}
3. Rahi (wintay)

4. All the seagny

Codes :

A B ¢ p
fa) 3 1 1 o
th)y 4 2 i 5
e} 3 4 2. 9
b 2 3 4

| 24.

126,

-26-

TEJAS |
frefafaa o 2 259 o ad qofeg a5
AR =fe

(a) AT WA ATETeA #7ft Farfa =it

¢ A feagrfiofi UG
)

(c) Frmetferm mamedt e e

(d) AT8eE e #4% Arz W

Freeferfran & & #-71 o8 aufem =g 2
A TETIER
(a) T FATTH T
) HH P FE
(c) 5 - =
(d) ®=TEm - A
T~ 1ot g - 11 % ang gafem £ifm 7o 91
fou w4 &2 3 & w8t 3 =1 e Hifw
o -1 T -1
() (wirem)
A T v Tl (aw)
B. @ 2. Frg (T
. 8, (%)
D. e 4 E TEy
%
A B C D
fa)y 3 i 1 2
B 4 2 1 3
ey 3 4 2 |
dy 2 3 4 1
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127. Aevcording to Fortune Indig Laat of GO0 COMPANIes,

128,

The Vivion

the biggest torporation/company in 2019 was
(a) Indian Oil Corporation Ltd,

(ki ON.G.C.

(e} Reliance Industries [¢d

(d) SR

According to American based think tank

population Review Report 2020, whieh of the
tollowing statements 18/are correct 7

. India's GDP in 2019 was T 209 lakh erore
2. Indiaemerged as

the world,

fifth largest econgmy of

4. [ndia over
France.

tike countries like Britain and

Select the correct answer UsINg todes given
below |

Codes :

{4) 1 and 2 only
(b} 1 and 3 only
(c) 2 and 3 only

{(d) 1, 2 and 3 correct

Given below are two statements. one labelled as
the Assertion (A) and other as Reasan (R)

Assertion (A) : Lucknow's Defence Expo 2020

was the Asia's biggest Expo of defence products

Reason (R) : The Expo was organised to portrait

India as emerging defence manufacturing hub

Select the correct answer from the codes given

below :

Codes -

(@) Both (A) and (R) true and (R) is the
correct explanation of (A)

&) Both (A) and (R) are true and (R) 1 not
the correct explanation of (A)

) (4) is true but (R) is false

127,

128.

129

) (A) is false but (R) is true

-27-

TEJAS -1

el ¥fiea ) 500 wofat 6 g % e
2019 1 waR wh Fom S o

(a) ¥R e whaiE

(b) 30 7=, 0wt

(e) o w=dfiT fa,

(d) wm.ft.xmd,

e st s % s wden frag o000 F

R PR & & da-an /i o b

1w R R &GR 2019 F 2 200 = wz A

2. T 3 i oiee qwd W snisron &
= o k| '

:«,mﬂﬁhmthﬁﬁﬂ_mﬁmt:

e m g2 = s w0 ww wh I =

‘i’ﬂ?ﬁ'ﬁﬂl{:

2

(a) ¥ae | & 2

(b) %ee 17 2

(c) ¥a=1 27 3

(d) 1, 29 35t

ﬁ%ﬁm&qﬂﬂiﬁﬁmﬁnﬁmimm

S W (R) A R P e 4

ahmﬂ;:ﬂn%hlzmﬂzmnt{ﬁmm

T8 IE W FER WS T 0

W (R) T i wRa ®) e v

I 2 F w9 A wew won @

ﬁ&aﬂﬁﬂﬂ@mmmﬁﬁq:

¥

(a) T (A) 7o (R) &3 & 7o R), (A) w0l
e #

(0] ZH (A) 7o (R) 74 & e (R, (A) @) @
e T §

(c) (A) #e R g (R) reres R

(d) (A) 3mme R fg (R) v B
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131,

133,

134,

The Vision

o sriue of
Follnwing are the estimated sourte R TEAEHLE 0

the Union Budget 2020-21 Match List —1 with

Lict — 11 and select the correct answor from the

codes given below.

List — 1 List - 1I
(Source) (Percentage of
Revenue)
A, Corporate tax 1. 17 percent
B. Tneome tax 2. 18 percent
. Customs 3. T pereent
D Central Excise 4. 4 pereent
Codes :
A B C D
{a) 1 2 3 K|
(b) 4 3 2 |
(c} 3 4 E! 2

{dy 2 1 - 3

Genetic industry includes
{a) Agriculture (b) Fishing
{ﬂ} Hunting {fl:] M'|ning

Which of the following »i i
g rivers of Indiz ;
tropic of cancer twiee ? S

(a) Mahi
(b) Chambal
(c) Narmada

(d) None of the ahove

Which of the follown
© NE censusg S 1
the sy Fthe ellow Years is known ag
et ivide” in the demographic history of
{a) 19071
S @ 150
Tulbyl” Priject is op which rivey 9
(a) Satluj (h) Jhe] .
(€) Rawvi (d) Be o
as

TEJAS _ I

1a0, fafafEa v a5 on20.91 & HARTER Sy 2
", Tl LR

" 2 | T - L # g uﬁammﬁm
Wﬁéﬁqﬁ@aﬁwﬁmmmﬁm|

o= - | ki GLE
(H| ) (afvma am)
A, Frm = L 17 wfdws
B. 3 2 14 gy
C. Hr e 3. 7wt
D, FEH TR 4. 4 v
- i

A B € D
(a) 1 2 3 4
(h). 4 3 Z 1
{c) 3 4 1 2
(d) 2 1 4 3
131, wRfew = § winfae 2

(3) Tﬁ (b) WEF THE
(c) Torm e (d) @

132, Frerfrfigs s 1 afe § #1756 @ w1 @
UR &l #
(a) ATE
(b) =rerel

(c) e

TR m— LR L
§ gy furre w0 H ISR 7

5 e (b) 1921
(c) 1931 i 10
134, vy i e T TR 7
{a) Tdc= p

28



135

| 36

13§,

140

Consider the following statemente and select the

DOITECT Anewer from the codes mven below.

I Rihand Dam -
mver,

18 on a tributary of the Sone

-
= Hirakund Dam 18 on Mahanadi river.
d. Tungabh

adra project 15 a oint vent of
r"l.hdhl‘t-l J i

Fradesh and Karnataka.
b Maithan Dam is on Barakar river. a
tributary of 3 modar river, |
Codes
ta) 1, 2 and 3 are correct
(b) 1, 2 and 4 are correct
(e) 1, 3 and 4 are correct

{d) 1,2, 3 and.q are correct,

National Green Tribumnal (NGT)wasestablighied by
the Government of India n

(a) 2007 (b) 2008

(e) 2009 (d) 2010

Which one of the following is NOT ¢carractly
matched ?

Country Iron-ore
producing area
(a) Kazakhstan - Karaganda
(b) Ukrain - Krivoy Rag
(c) Germany - Normandy
(d) France ~ Pyreneas

Which one of the following is correctly matched ?

(a) Lorren Industrial Region — Italy
(b) Ruhr Industrial Region — Germany
(¢) Bristal Industrial Region — France
(d) Saxony Industrial Region United

I Kingdom

Which among the following countrier NOT

located on the western coast of Africa?
(a) Gabon (b) Botswana
(¢) Liberia (d) Angola

Fores Research Institute 18 Jocated 1n
(a) Dehradun (b} Bhepal
) New Delhi (d) Nagpuf

135

136.

137,

138

139.

140
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TEJAS - I

ﬁnfaﬁaamqﬁanaﬁhnﬁmﬂéﬁmnﬁ

T B B I F ww ifg |

l.ﬁsztfuﬁﬂiﬂfrﬁmmﬁuﬂl

2. e Wi meEd @ d

3.Wwﬁﬁmmﬁmmﬁ{ﬁ
ITHRE & |

4,ﬂm§ﬂumﬁﬁﬁmwm
TR

%He
{ay 1,230 3 5 &
) 1,230 478 #
(¢) 1, 3 3 4 58 &
(d) 1,2 3af4mh 2
WA HOAH 510 W wfe sl (o 2 ) 6
T 7S ot
(a) 2007 § () 2008 §
{¢) 2009 (d) 2010 A
ﬁnﬁ*ﬁﬂﬂﬁﬂ?ﬂﬁlgﬁ%ﬁﬂﬁt?
& g - 31T TS g
(a) FaTETH FHME
® T -~ e
(c) A - AUE
(d) %15 = i
Frrforfiaa # & i o wd gfE 2
(a) A 3freifiee wem S
{b) ¥ i vew B LE]
(c) remt S wemr - wim
(d) Bt ofveifer e - geds Reew
fFreferfan 2o & B a1l & ofeaf a2 o
femg
(a) faq (b) Sheam
(c) TSafen (d) 3w
T A 7eH Rm R
() 74 el § (d) PR H
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TR R D sesesseRLse,
ET UNTIL YOU ARE TOLD TO DO ..,”
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.o
. E DO NOT 'E'}[ EN THIS TEST BOOK

SCODE : TEJAS -1 2016 :
ESUB : ( SERIES

EGENE RAL STUDIES

.
.
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®To mark Answer Use Black Ballipoint Pendonly
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sCandidate must réad all the insgtructions before writing the snswers.

:‘l’uu are to mark your answer on Answer-Sheet only. After the examination is over, handover the
soriginal Answer-Bheet to the Invigilator,

IMPORTANT INSTRUCTIONS
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Answer all questions. All questions garry cgual marks,

The Candidate should indieate the correct Roll Number, Subject, Paper Code and its Series on thee
Anaswer-Shest, otherwige the Answer-Sheet will not be evaluated and the candidate will be f-:n!el:f‘
responsible for It -

b

3. This Test Booklet contains 140 gquestions. Each question has four (4) options which are given®
below the guestions. Only one option is correct out of four. You are required to darken the circle®
corresponding to the alternative which you consider to be the correct or most appropriate answer g
in the Answer-Sheet by Black Ball-point Pen. .

4. Do not write anything on the cover page of the Test Booklet except Roll Number. Use the space Fur:
rough work given in the last two pages of Test Booklet, a

5. If vou happen to find that the Booklet issued to you does not have all the pages properly printed or it®
has any other deficiency, then you need to approach the Invigilator to get another Booklet of sanm:

Series and Code. S
In this question booklet questions are printed 1n both Englizh and Hindi languages. In case of Em},r
ambiguity in the gquestion the English version of the question shall Prevail.
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Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN '
THE ANSWER SHEET.

(i) There are four alternatives for the answer to every question. For each guestion for which a wrong .
answer has been given by the candidate, one-third of the marks assigned to that question will ®
be deducted as penalty. o

(ii) If a candidate gives more than one anewer, it will be treated as a wrong answer even J_fﬂne.
of the given answers happens to be correct and there will be same penalty as above to thate

guestion. -
(i) If a gquestion is left blank, i.e., no answer e given by the candidate, there will be no penalty 4

for that question. »
NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO S0O.
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